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Ouestion 1:

(a) The results of a yearly examination were summarised in the box-and-whisker plot
. shown belowr:
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(i) Write down the median score.

(i) ‘What is the range.

(ili} Calculate the interquartile range of this distribution.

(b) The blcod alcohol confent of 50 drivers ages between 17 and 25 who tested ﬁositive
when breathalysed are recorded in the table below. .

Blogd Class Frequency Cumulative is
Alcohal Centre. i, Frequency '
Content ) . {ef)

0.00 - 0.04 0.02 7 ~ |
0.05-0.09 0.07 14
¢.10-0.14 0.12 L
-0.15--0.19 S YA 1 1 N
0.20 - 0.24 022 7 i -
0.25-0.29 0.27 3 L \
5= Yh=.
\

(i) Complete the missiﬁ;g columns 0'n this sheet
(iiy Calculate the mean bloodI alcohol content.
(iif) ;.Vhat is the maéal class?

{iv) Draw a cumulative ffequency histug@m and polygon. Uée your muler! -

(v} Using your graph from (iv}, estimate the median.

() A shoe manufacturer, after looking at a frequency distribution table of the sizes of
shoes that peaple buy in his shop, decides lo stock one size of shoe only, for
reasons of economy. Will the size be the median size, the modal size or the mean

size? Give reasons for your answer.

(d) The stem-and-leaf plot below sliows the mass in kitograms of a caich of 30 fish that
were caught by a trawler.. S

Stem | Leaf Key 4|6+=4.6 kg
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Tind the mean, median and mode of the caich

{(e) The standard deviittion of the dataset 3,7,6,3,2,7,4,5,9,6 s

A 209 B 22 Cc 52 D 7

() The data in the back-to-back stem-and-leaf plot shows the number of CDs sold in
two music stores, one in Neweastle and the other in Wollongong.

Keyd|[3=43
Neweastle Wollongong ;

‘Leaf |Stem| Leaf

987 | § 24899 -
7421 2 1225.

g§2:1- |3 007
9760 4 |9

L, |5

() Compare the range of scozes in the two cities
(ii) ‘Which city sells the highest median number of CDs and what is this median?

(iiiy Comment on the statement “generally, more CDs are sold in Wollongong than in
Neweastle”. Support your answer with appropriate reasoning.



(g) Consider the data shovm in the graph below which shows the temnperature each day

over-a ane-nonth-period,

Frequency
= LT V- NP

2526272829303132 ' .
Temperatare {°C)

Ts the data skewed? If it is, is it positively or Tnegatively skewed? )

(h) Aretha wants fo compare the marks that she has oblained in three subjects.

In Eniglish, the mean of her class;was 60 and the standard deviation was 9.7. She

gained a mark of 70.
In Maths, the mean of her class was 63 and the standard dev1at1on was 5.2. She

gained-a mark of 70. -
In Art, the mean of her class was 75 and the standard dewatlen was 11.6. She

_gained a mark of 85.

What is her best mark? Support your answer with appropriate reasoning.
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In a drawer there are 12 socks of which 8 are white and 4 are black.
If Brianna selects a white sock first, find the probability that she selects

a white sock second.

In her drawer, Mary has 9 blus socks and § red socks,
What is the probability of Mary randomly sclectmg matching socks of the same

colour 7

A medical test that is designed to diagnose patienis with a cerfain disease is iested
on 500 patients. Some of the patients are known to have the disease while others are
known not to have the discase. The results are shown in the two-way table below.

Test results
Positive | Negative | Total
PGI:SOH has 9 8 160
discase
d 7
Person does not 16 384 400

have disease
Total 108 392 504

What is the probabi]ity that a person with the disease is not detected by the test?

If a person does not have the disease what is the the probablllty tlnt the test shows
that they do have the disease?

A coin is tossed and a die is rolled.
(i) How many possible outcomes are there to this experiment?

(i) What is the probability of throwing a tail and getting a number less than 57

Thres coins are tossed.

() Draw a tree diagram to show the possible outcomes to this experiment.

(i) What is the probability of both a head and a tail showing on at least one coin?



{f) Amanda is a netball player who ean shoat a goal 5 times out of every. 8 throws.
Amanda has two shots at goal.

(i) Draw a probability tree that will show all possible outcomes to this situation
(il) What is the probability that Amanda is successful with both shats at goal?

(iii}* What is the probability that Amanda scores at least one goal?

(g) Chrissie is late for work once in every 4 days. Gavin, her assistant, is late for work
once in every 10 days. ’ :

(i) Draw a tree diagram to show the possibilities of each being late.

(i) What is the probability that both Chrissie and Gavin are on time on a
particular day?

(iif) What is the probability that one is late and the other on time?

Put your answers inside this hooklet
Make sure you put your name on your ansvers!




Pm\o{;_\:,;,h_;l—%‘-k’s{‘&g‘ L;&Q_____ e Wﬂfﬁﬁ.._____;___ i eI _//, T _-_”J'é"_“ -
R P S e

Cdeay e
) M\ame:ka — _/ T - SR S VUV Y.
! -f) Tira- vOrgye, =5 stovesn bhetusesuy 4o :L&,ge_c_kss\.b Qe oy "n_\IG;LQ_K:) L

- [u.)__:vgis—a-_es%iAi,_/f,,,,,, el A
D ss-1s ho / _ _ o : T swilbon Mo Mewgastle way. e
o . \Jakkl:fmbwm\;m?{? —— 4 A

. b) S . _ : o T C Heowrwar EL‘-'-—YQ\V\%L ‘3&' Scoves @‘" Ebl‘-c\r\{')m;) 1% \M‘%b L

1) on Papea . .
i U]’_) Mlban = _.2_’__{1), I _ el i- _ o -4 NWCE\S\'L_& 93% %i ME.\J._}CQ\SJ:LL w‘\?é l&sk-as-_\r \f"‘*-‘l.-{‘}_\&m L=] % (W,
L l//_ e . . B B o Nb“‘!\fu’aﬁ“\a‘il By - R o

o R ) _ P N | }
(m) nsockc\\ dasg - 0-0%-g09 4___ o R T T shedaanentts Qm‘ysq, s Mevicostle 56z wmve _dda Mo
. Mcuﬁmﬁma + Thas Coun e SR ,r‘tzlfme;gua\_a U  paadicen aahaa

() S S D
el = ] e Newcande salls Sla bighesd pbdian obdns .
- « o Negscastle. sdse has o Il rm_gw_m_g‘a‘,:y. ), Qom(;mrgl: ke

uo b 7 [ STV, .o

isd Z ' , o Les ‘..-b&e&w,xg)srbﬂ CL(L:S), ol tlhe nuubore sl L0z Std . e

'Y % PR,

L *::ﬁ;_;__zf{‘ e e e — DR
. f)) Mes ;e dedn s Pos\'t‘\k&Lt) S‘\QQ_U-*QLL

o

A5 . [ - S SR H - . .
e i ;
. ] o B _ . T . L‘) P\'(“, IR COATL 1!|-'L:°—. Seow i oy " da s L G 3 . B;;".QMQ% )

o e

CLML [Lb& S{u\.cfl{.v\'ts uuén.xlok lrUJx. l
i

L. \-.\mhm—\ S opprex OA2 o / . _ o : +. Moths | berosse 4l s’cmelsx_\f_f& cLQ,m‘ch}q-r; ts m&u_n:\'\ .
: . . kﬁ-w S Alals “En:_;s.'k S, .,.CQ,tzv\Pc\_M_nL A E—:@c: . E;‘!&L\,

i CD T4 \m’s—ukﬂl Lu‘_‘\-laa, sasdek size (—L-c‘/((/i—mjtm. 93 c‘_cwé;e_%aﬂ\@—i\ - — ook M - : oV LB &@de‘uﬂ}‘l-
. D C\LL«LL_ e L\Q%N}A St vy megMes ek _L@Lug.uﬁ;

R O m—;&,,Pu:ioxAM e A, Siza ok st %‘p\L \Ouj wetreded -
b e stve bawidl skede. L - LMo anereql wes  olse lmblnu/ Bra. tee slapdosed

| R N A Sl e "\}%\_«44/- el . ,w\n_cws‘l-:\% e SCrres,

i R —|-—

: , . NS BT . P&-{pmouﬂﬁ Gt _Mw&uﬁ Ceynmm&. Ly

Ll) Etan 2 332660 - _L/,A,,, . .. i - .
o :':43_3#;3) Qép) o o ‘ , N L eole _etha . sk de '&S_Lﬂ,rir\o{slc _nades A2, Pnoedlg

o~

1M4L;Q;l;v\ = _L't_".
_ =1 K S R
A . e . R




T : ‘ i
O‘)_ ,Piw{é’[ﬂ&;s&dﬁ)z T o M - T g RS S T T T T s e e .
‘ B / Ngeel o I

5  / - S N -9 o
/ ; 3 T

()msw 25 N
- T | _Platbast o geal = 1-
. : | s Bl \// e el

0\)_& _Axl=tz o ./ S -, I I Y L&a*\@i R

3 |
: : -4 hoth haad ok atal ‘l) = E,,,‘f-,, . , .. I S
e) i / \T i P B < I R 'PLbcmw%m)=i70 /f
| L/H\ /H HTH CoTmmoT Kﬁ ' Ol GeasrEags B _elome ‘kalw,jnhww)_ // :
Wt FHE / N o i . e )
T/\TTHT L : S -
PR A - - o

\T Ty

8] mMji all 'nwls CL“’&\“&D ,",EP_‘_?'L?_J",\?_«;‘,;*:»__:_.?_L_5_‘ -




